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I. Practice Problems

A. Determine which of the following differential equations are exact differential equations. If
an equation is exact, determine its general solution first in implicit form and then (if possible)
in explicit form.

1)

2)

3)

4)

(1—ysin(x))+cos(z)y = 0: Denoting P(z,y) = 1—ysinz, Q(x,y) = cosz we have
%—5 = —sinz = ‘?)—(i, hence the equation is exact. The general solution is looked for in
implicit form F(z,y) = C, where F = [ P(z,y)dz = [(1—ysinz)dr = z+ycosz+
g(y), where g(y) is to be determined from the condition @ = %—5 =cosz+¢'(y). We
therefore conclude that ¢'(y) = 0 so that g(y) = const. Thus the solution in implicit

form is x + y cosx = C, whereas the explicit form is y = (C' — z)/ cos .

\/;erz + \/xgﬂjQ y' = 0: Denoting P = z/y/2? + 3% Q = y/\/2?+y* we have

o _ ___my  _ 0Q on i i
By = TELORE T o hence the equation is exact. The general solution can be

looked for in implicit form F(z,y) = C, where

F= /P(x,y)dx - /de = /22 + 4% + g(y)
Va2 +y?
where g(y) is to be determined from the condition @ = aF =y/vVrZ+y?+g(

We therefore conclude that ¢'(y) = 0 so that g(y) = const Thus the solutlon in
implicit form is /22 4+ y?> = C' > 0, whereas explicitly y = £/ C? — 22 for |z| < C.

—z+(z—y)y =0 DenotlngP——xandQ—x—ywehave O#aQ—l
the equation is not exact.

22 +y/x+y In|xy| = 0: Denoting P = 2% +y/x, @ = In|zy| we have %1; 1_ 99

x Oz
so the equation is exact. The general solution can be looked for in implicit form

F(z,y) = C, where
3

F:/P(x,y)dx:/(x2+y/£€) dx=%+yln\w!+g(y),

where ¢(y) is to be determined from the condition @ = = In|z| + ¢'(y). We
conclude that ¢'(y) = In |y| so that g(y) = —y +yIn|y| —i— const. The solution in
implicit form is given by % +yIn|z| —y +yIn|y[ = C. It is however impossible to
find y(x) explicitly.



5) 2xy? + 42% + 2(2* + 1)yy’ = 0: Denoting P = 2zy* + 423, Q = 2(2? + 1)y we have

P
0y
implicit form F(z,y) = C, where

=dxy = % so the equation is exact. The general solution can be looked for in

F= /P(I,y) dv = /(Qxy2 +42%) dx = 2%y + 2* + g(y)

where g(y) is to be determined from the condition ¢ = %—5 = 22%y + ¢'(y). We
conclude that ¢'(y) = 2y so that g(y) = y* + const. The solution in the implicit

form is given by z?y? + 2* +y* = C or y(z) = +

1 = exphmtly

B. Please note that the following solution writeups should serve only as an outline or guide
to your written justifications and not as a template or model for your answers.

1)

2)

Find a value of the parameter b such that the following differential equation is exact and
solve it for that value of the parameter:

—xb

yr Yy
Solution: Denoting P(x,y) = y;;’"b, Q(z,y) = -z we have %I; = % = b s
whereas g@ = y2, hence only when b = 1 the equation is exact. For such value of b

the general solution is looked for in implicit form F'(x,y) = C, where

— 1 1
F:/P(:U,y)dx:/y xdac:/(———) d$=1n|l“—§+g(y)a
YT r oy Y

where g(y) is to be determined from the condition @ = 3= = ;5 +g'(y). We therefore

conclude that ¢'(y) = 0 so that g(y) = const. Thus the solutlon in implicit form is
In|z| — ¥ = C, whereas the explicit form is y = z/(In[z| — C).

Find all functions f(y) such that the following differential equation becomes exact:
d
x2+M—|—1n|xy|—y =0
xy dx

and solve it in implicit form for a particular choice such that f(1) = 1.

Solution: Denoting P(z,y) = x —i—ﬁ?, Q(z,y) = In|zy| we have %1; glcd% (%»
0Q _

whereas 3% = %, hence the equation is exact only if d% <%> = 1 or equivalently

f(y)/y = y + C which finally gives f(y) = y* + Cy, with any constant C. The
condition f(1) = 14+ C' = 1 makes us to choose C' = 0. For such value of C' the
general solution is looked for in implicit form F(z,y) = C, where

F=[Payyie= [ (#+2) dr= 5 4yl 4900,

2



where ¢(y) is to be determined from the condition @ = ?9_5 = In|z| + ¢'(y). We
therefore conclude that ¢'(y) = In|y| so that g(y) = [In|y|dy = yIn|y| — y. Thus

3

the solution in implicit form is % +yIn|z| +yIn|y| —y = C.

C. Determine the general solution of the exact differential equation

1— x B Yy y/
$2+y2 x2+y2

Write down the explicit solution for the initial condition y(0) = e.
Solution: Denoting
z Y
P(z,y)=1— ——, T,Y) = ————
(,y) R Qla,y) = —— "

we have

or  2yx  0Q
oy  (22+y2)?r Oz’
hence the equation is exact.
The general solution is looked for in implicit form F(z,y) = C, where

1
where ¢(y) is to be determined from the condition
or Yy
gy a®+y?

Q= +9'(y) -

We therefore conclude that ¢'(y) = 0 so that g(y) = const. Thus the solution in implicit
form is

1
x—iln(xZ%—yz):C.

This can be further rewritten as

which gives the explicit solution
y = £V e2e=0) — g2
We have y(0) = +e~ = e, hence we choose the plus sign and C' = —1 and finally obtain
y =/ e2at) — g2

D. Consider the initial value problem

d
= 1ey), fay) = VPR y(1)=0,



where p > 0 is a real parameter. Show that the Picard-Lindel6f Theorem ensures the uniqueness
and existence of a solution to the above problem in a rectangular domain |z —1| < A, |y| < B.
Find the value of the Lipschitz constant K for the above problem for a given A and B. Write
down the maximal value of the width A for a given value of B.

Solution: The right-hand side f(x,y) is continuous everywhere, and its derivative or

9y
satisfies of
oyl = lyl/vVp?+y* <1,

so is bounded. In our case of initial conditions ¢ = 1 and b = y(1) = 0, hence in the
rectangular domain

D=(lz—1 <A, |y <B)

the solution to the ODE exists and is unique provided A < B/M with M = maxp /y? + p>.
The value of the Lipschitz constant in such a domain is

K:maxg :maxL ,
D |y D /y? + p?

that is, we should look for a maximum in the interval —B < y < B. The function to be
maximized is even and as we have

/2 2 _
i Yy . v Vyip? p2 <0
dy \ \/y* + p?

Y2 +p? (p* +y?)*?
it is growing with y. Hence the maximum is achieved at the end of the interval for y = +B,
and the Lipschitz constant in such a domain is given by

B
K=——.
/ B2 +p2
Finally, as for a given B we have
M = +\/p?>+ B?

(as the function f(x,y) = \/p? + y? obviously grows with y) this implies that the width

A should satisfy
B B

M: p2—|—B2'

Therefore the maximal value of the width is

A<

B

N2k



